Description

IACVE

Parts illustration

Pinion Gear Set (Black)

MZ6BK | p=vvtyh (75v2) 500
Motor Set

MZP | £—g—tyh 900

Motor Case Set (HM/MR-03)

MZ156 | £—%—4—242v h (HM/MR-03) 650
Front Suspension Parts Set

MZ203B | 70y 2Ry 3y t— Yy h 500
Motor Case Set (MM/MR-03)

MZ215 | £ 54—ty (MM/MR-03) 650
Rear Shock Set

MZ206B | )52 t—ty i 600
Differential Gear Assembly

MZ207 | 25207y ty 7 — 900
Motor Case Set (RM/MR-03)

MZ216 | £—5—s—24v k (RM/MR-03) 650
Motor Case Set (LM)

MZ305 | £—5—r—2ty I (LM) 650
Differential Gear Assembly (LM)

MZ302 | 2727yt 7 U—(LM) 900

42



Description
=%

Parts illustration

Main Chassis Set (MR-03VE)
MZ501 | 3>+ 3 —tv k (MR-O3VE) 1000
Upper Cover / Servo Motor Cover Set
MZ411 | (MR-03/S/S2) 700
TYIR—HIN— [P —RE—F—F/\—
vk (MR-03/S/S2)
1.2x3.5mm TP F/H Screw
1.2x3.5mm TPHZE X
Small Parts for Chassis (MR-03)
MZ402 | 5,5, N _ 700
Vv v—iIWty k(MR-03) &
(0.5mm) (0.8mm) %
Small Parts for Suspension (MR-03) j
MZ403 | 42~y v 52— Yy~ (MR-03) 600
Servo Gear Set (MR-03)
MZ404 | 4—R=2+v+ vk (MR-03) 400
Servo Saver Assembly (MR-03)
MZ405 | 4 _Rz/\—7 v 27— (MR-03) 600
Front Suspension Arm Set (MR-03)
MZ406 | 7oy sy sy gy 7—Lty k(MR-03) 400
Suspension Shaft Set (MR-03)
MZ407 | 42>y 503947 ey h (MR-03) 450
Screw Set (MR-03) 2x8mm TP Screw e
MZ409 | 2tz k (MR-03) 2x8mm TPE 2 X2 450
2x6mm TP Screw
2x6mm TPE X x18
2x5mm TP F/H Screw
2x5mm TPHSER x5
2x4mm TP Screw (Small Head) o
2x4mm TPE X (/\GE) x2
RC Unit Set (RWD/RA-38)
MZ414 | R =y Mz k (RWD/RA-38) 7000

# This parts illustration only identifies spare parts for the MINI-Z RWD. / Die Teilezeichnungen beziehen sich nur auf den MINI-Z RWD.
Cette illustration identifie uniquement les pieces pour la MINI-Z RWD. / Los dibujos muestran unicamente los repuestos para el MINI-Z RWD.

BRI ARRICEFNEIDDDHALH SN TVET,

43



	P001 RWD_out
	P002 RWD_out
	P003 RWD_out
	P004 RWD_out
	P005 RWD_out
	P006 RWD_out
	P007 RWD_out
	P008 RWD_out
	P009 RWD_out
	P010 RWD_out
	P011 RWD_out
	P012 RWD_out
	P013 RWD_out
	P014 RWD_out
	P015 RWD_out
	P016 RWD_out
	P017 RWD_out
	P018 RWD_out
	P019 RWD_out
	P020 RWD_out
	P021 RWD_out
	P022 RWD_out
	P023 RWD_out
	P024 RWD_out
	P025 RWD_out
	P026 RWD_out
	P027 RWD_out
	P028 RWD_out
	P029 RWD_out
	P030 RWD_out
	P031 RWD_out
	P032 RWD_out
	P033 RWD_out
	P034 RWD_out
	P035 RWD_out
	P036 RWD EX_out
	P037 RWD EX_out
	P038 RWD EX_out
	P039 RWD EX_out
	P040 RWD EX_out
	P041 RWD EX_out
	P042 RWD SP_out
	P043 RWD SP_out
	P044 RWD E_J_out
	P045 RWD E_J_out
	P046 RWD Ger_out
	P047 RWD Ger_out
	P048 RWD F_out
	P049 RWD F_out
	P050 RWD S_out
	P051 RWD S_out
	P052 RWD EU_out
	P053 RWD EU_out
	P054 kounyuu_out
	P055 FAX_out
	P056 RWD_out



